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comprehension 1. a) he must read a lot of books. b) he doesnt like
history. ¢) he cant get the books he needs. d) he has lost his watch. 2.
a) mild. b) warm. ¢) hot. d) cold. 3. a) the light couldnt be turned
off. b) the hot water was running. c¢) there was no hot water. d) there
was no heat. 4. a) tom was unable to hear well. b) tom didnt say
anything at the meeting. c) tom didnt listen to him. d) tom went out
before the meeting was over. 5. a) in a restaurant. b) at a post office.
c) in a hotel. d) at the railway station. 6. a) she couldnt find where the
courses were offered. b) she has already taken one. c) the courses are
not well organized. d) not all the courses are bad. 7. a) ?? 15. b) 7?
150. ¢) 77 60. d) ?? 30. 8. a) 8:30. b) 7:30. ¢) 8:00. d) 9:00. 9. a) finish
the novel. b) return the novel. ¢) lend the novel d) read the novel. 10.
a) he is a secretary. b) he is a newspaperman. c) he is a novelist. d) he
IS a businessman. passage 1questions 11 to 13 are based on the
passage you have just heard. 11. a) he wasnt satisfied with its size. b)
he wasnt satisfied with its power. ¢) there were no units for measuring
power. d) there were few people who liked this engine. 12. a) lifting a
3,300-pound weight 10 feet into the air in one hour. b) work a horse
could do in one hour. ¢) lifting a 3,300-pound weight 10 feet into the
air in 10 minutes. d) work a horse could do in one minute. 13. a)
watts engine b) the beginning of horsepower c¢) units of measure d)
how to measure an engine passage 2questions 14 to 16 are based on



the passage you have just heard. 14. a) he doesnt think flying is fun.
b) he feels he is a bus driver. ¢) he is responsible for the plane and the
passengers. d) he is governed by instruments and regulations. 15. a)
he enjoyed more freedom. b) flying was entirely different then. c) he
had no responsibility at all. d) he relied on his experience only. 16. a)
by looking at the roof of every house. b) by calling a station for
information. ¢) by landing immediately. d) by following a railway
line. passage 3questions 17 to 20 are based on the passage you have
just heard. 17. a) because she did not speak, except when it was
necessary. b) because she could always find people who were able to
help her. ¢) because she had a guide who could speak english well. d)
because she had always had a pencil and some paper with her. 18. a)
In a restaurant in an italian city. b) at a market in the south of italy. c)
In a restaurant in an italian village. d) at a market in the north of italy.
19. a) she had difficulty explaining where she had seen mushrooms.
b) she had difficulty giving her order for food. c) her trouble was that
the waiter was a foreigner too. d) her trouble was that the waiter was
Impatient. 20. a) because he thought she had drawn one. b) because
she mispronounced the word. c¢) because it started to rain. d)
because it was what she had seen at the market. vocabulary and
structure 21. four years since john left school. a) it was b) it
IS ¢) they have been d) those are 22. the doctors have tried
to save his life, but failed. a) everything humanly possible b) humanly
everything possible ¢) humanly possible everything d) everything
possible humanly 23. by 1922, for example, australia had
than it had people. a) fifteen times more of sheep b) fifteen times




sheep more c) fifteen more times of sheep d) fifteen times more

sheep 24. laser beams can carry long-signals somewhat
similar to radio waves. a) in directions b) by means of ¢) in ways d)
according to 25. shaking hands is a way of greeting. a)
conventional b) conditional ¢) original d) conversational 26. i hope
their plan will work, but they themselves are very that it
will. @) confident b) concerned c¢) doubtful d) suspicious 27. toms
father wants to send him to medical school . a) to make
him become a doctor b) for making him a doctor ¢) to make a
doctor from him d) to make a doctor of him 28. , he never

helps the poor. a) as he is rich b) even he is rich ¢) rich as he is d) rich
even though he is 29. she didnt come to the party though she

us she would. a) agreed b) accepted c) offered d) promised
30. what you should say in your speech is entirely you. a)
up to b) due to ¢) owing to d) according to 100Test LI [0 I 0O O [
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